ALL KERALA BHAVAN’SSCHOLARSHIP EXAMINATION NOVEMBER 2023

Class: V Marks:100
Date: 28.11.2023 Time: 1% hrs
GENERAL INSTRUCTIONS:

Read the instructions carefully before answering

1.
2.

Please fill up your Roll No. and class in the box provided on the OMR sheet.

This question booklet contains S0 questions and 5 Tie Breaker questions. All questions including ‘Tie
Breaker Questions’ are mandatory. Tie Breaker questions will be evaluated only in case of a Tie.

. Each question carries 2 marks.

Each question has 4 answer choices 2,b,¢,d.”

. For each question, select the best/correct option and darken the bubble completely against the

corresponding question in the OMR sheet provided.

. Use a blue/black ball point pen to darken the bubble.

Darken only one bubble against each question.
There will be no negative marking.

Choose the correct answer from the options given.

Il

10.

135S

Therciwasisomies: S agreement over the topic

a. un b. mis c. dis d. anti

Which is the correct style?

a. Yours Obediently b. Your obediently c. Yours obediently d. Your’s Obediently
Which of the following is an example of an imperative sentence:

a. The beautiful rainbow soon faded away. = b. Can you do this?

c. Read this book now. d He is so cute!

Select the correct articles: They finished _ unit.

a.a b. an cathe d. all of these
Fill in the blanks with the most appropriate word:

A pair of trousers ______ all that I brought along.

a. would be b. are c. is d. were
Synonym of: Prudent

a. Foolish b. Careless c. Unwise d. Cautious
Choose the correct option: My sister is a

a. bacheloress b. bachelor c. unmarried d. spinster
Choose the correctly spelt word

a. dicipline b. discipline c. desipline d. desciplne
Use present perfect tense form of the verb in the bracket.

Tarun —— him. (meet)

a. had meet b. had met c. has met d. have met
Choose the correct type of noun of the underlined word. We should love animals .
a. abstract noun b. collective noun c¢. common noun d. proper noun

Punctuate the following sentence. Ram said I will submit the project
a. Ram said I will submit the project. = b. Ram said,I will submit the project
c. Ram said,” I will submit the project”. d. Ram said “I will submit the project “.
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19.

20.
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22

23.

How many prime numbers are there between 1 and 50

a. 10 b. 20 o calH d:+25

The HCF of two numbers is 6 and their LCM is 432. If one of the number is 48, the other
number is

a. 72 b. 36 c. 48 d. 54

Find the missing number
a. 191

/N\
? 11
b. 101
c. 211
2 : 2 + d. 182
\’/

Here are some different types of boxes. Match the shape below with a box in to which it

will fold.
= 7 ams
b d
A

. a- i, b-ii, c-iii, d-iv

(o] a
b. a-ii, b-iv, c-1i, d-iii
c
d

a

Sl OR

[ ii i iv
What will come next in the number pattern 1, 4, 9, 16, 25, 36, 49, ——
a. 56 b. 81 c. 64 d. 74
What is the value of 12 + 6 x 27 + 3 +2-16+8
a. 65 b. 66 c. 60 d$55
The difference of two numbers is 42. If the smaller number is increased by 10, the new
difference will be
a. 32 b. 42 € S d. 420
Ram has a total of 108 tapes and CD’s in his collection. He has 3 times as many tapes as
CD’s. How many more tapes does he have than CD’s?
a. 72 b. 54 cE86 @ls 2
Twice of a certain number is 58. Four times that number will be?
a. 4 x 58 b. 58+4 ey b8ix 2 d. 8x58
One litre of petrol costs Rs 85. How many litres can buy for 510 rupees?
a. 6 151 7/ OB d. 9
Sophia is arranging straws on the floor to form houses like the one :
shown below. After using up a packet of 50 straws to form as many
houses like these as possible, she finds that the last house is
incomplete. How many MORE straws would she need to complete the
house? o}
a. 5 b. 6 Cipdlil d.-523

Kalbelia is a kind of

a- iii, b-i, c-ii, d-iv
. a-1i, b-ii, c-iv, d-iii

- a. Dance form b. Design c. Musical instrument d. Song

24

25.

Name the bird which has eyes in front of its head.
a. owl b. ostrich c. peacock d. vulture
Poisonous teeth of the snake are called as
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39.

40.

470

42:

43.

44,

Who was the father of Indian constitution?

a. Mahatma Gandhi b. Jawaharlal Nehru

c. Tagore d. B.R Ambedkar
Identify an insectivorous plant

a. Zenia b. cactus c. money plant d. pitcher plant
Which of the following is a harvest festival?

a. Diwali b. Durgapuja c. Bihu d All of the above

Where is Jim Corbett National Park?

a. Delhi b. Haryana c. Rajasthan d. Uttarakhand

Reena is feeling weak and dizzy. Her mother gave her a magical drink and she felt
energetic. Identify the magicl drink.

a. Milk b. Salt solution c. Sugar and salt solution d. Plain water
Which of the following is a natural fertiliser? |

a. Neem leaves b. Soil c. Earthworm d. Cowdung

A mountain is a landform which rises more than metres above the sea level
a. 800 b. 900 c. 1000 d. 500

Ants move in a line because of their sense of _

a. sight b. smell c. taste d. hearing

Name the outermost part of a seed

a. Embryo b. cotyledons c. seed coat d. none of these

Which Indian chess player replaced Viswanathan Anand as the country’s top-ranked
player?
a. R Praggnananda b. D Gukesh c. Nihal Sarin d. Arjun Erigaisi
Which film won seven awards during the Oscars 2023 event?
a. Everything Everywhere All at Once b. Elvis c. Tar d. Top Gun: Maverick
National calendar is based on

a. Saka era b. Vikarama era C. Gregorian era D. Hijri
Chandrayaan-3 was launched from which space station?
a. VSSC, Thiruvananthapuram b. SDSC, Sriharikota
c. SAC, Ahemadabad d. URSC, Bangalore
Name the present Prime Minister of the United Kingdom?
a. Rishi Sunak b. Boris Johnson c. Liz Truss d. Theresa May
Which city organized the recent G20 Summit in 2023?
a. Brisbane b. Osaka c. Newyork d. New Delhi

Rahul baked 1000 cookies. He sold 400 of them and gave the rest equally to12 of his
friends. How many cookies did each of his friends receive?
a- 7.2 ' b. 60 c. 90 ~d. 48

In a certain code, if TREE is coded as 7100, FROG as 2159, how is FREE coded in that
code?

a. 2100 b. 3100 c. 1003 d. 1002
If day after tomorrow is Friday, What day was two days before yesterday?
a. Saturday. b.Sunday c. Monday. d.Tuesday

If you count from 1 to 100 how many 7’s will you pass on the way?
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54.

55.

How many triangles are there in the figure given below? .

a. 10
b.12
c. 8

d.11

These are the two types of kadai’ that a certain shop has.

Shalini visits this shop and buys the steel kadai. However,
she changes her mind the next day and comes to take the
non-stick one instead. She pays for the excess amount with

a 500 rupee note. What amount should be returned to her?  SURe s THSRNGSTK

a. Rs 363 b. Rs 265 c. Rs 137 d. Rs 128

If 15t half of the English alphabet is written in reverse order, then find the 15% letter from
right:

a. A. b.B e € d. D

If violet’ is called ‘blue’, ‘green’ is called ‘yellow’, 'blue’ is called ‘white’, ‘white’ is called
‘red’, ‘red’ is called ‘orange’, what is the outermost colour of a rainbow?

a. red b. white c. orange d. violet

There is a total of 6 bicycles and tricycles. If there is a total of 15 wheels, how many
bicycles and tricycles are there?

L5 b. 4.2 e¥8,3 d. 2.4
Which of the following figure has the same number of sides as the figure below?

[<
.

* * * * *
TIE BREAKER
During solar eclipse ——casts its shadow on earth.
a. Moon b. Earth c. Sun d. Mercury

There are five different houses: A to E in a row. A is to the right of B and E is to the left
of C and right of A, B is to the right of D. Which of the houses is in the middle ?

a.B b€ GHA d.D
The least number we can write so that the Sdigit number 1537- is divisible by 3
a.0 b. 1 c. 2 . d. 3
Choose the word which means same as the given word
Enormous
a. Surprise b. Courage c. Large d. Extra
Pablo Picasso was a famous painter from which country?
a. Spain b. France c. UAE d. USA
* * * * *
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